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PHEM-U-ECO

ECONOMICS (PAPER-I])
Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS

(Please read each of the following instructions carefully before attempting questions)
There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and § are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must
be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space
provided. No marks will be given for answers written in a medium other than the authorized
one.

Word limit in questions, wherever specified, should be adhered to.

Graphs/Illustrations, wherever required, may be drawn/given in the space provided for
answering the question itself.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a

question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.
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WUs—A |/ SECTION—A

1. Frafafas v@F w9 &1 I @ 150 W=t § i

Answer the following questions in about 150 words each :

(a) T AT SRR A swa R g i 9 aun sgfoss Wt w6 § e fif

(b)

(c)

(d)

(e)

2. (a)

(b)

fc)

wveRe % @V fFy T At 9 A g § sgfes Wi 9 i @i gEn aen g R

Differentiate between perceived demand curve and proportional demand curve
in a monopolistic competitive market. Explain why the proportional demand
curve is steeper than the perceived demand curve.

whifga fakremma 1 gem 6 seETes e Fif
Discuss critically the phenomenon of classical dichotomy.

firg Hif 5w o F gRFm F TR W A -9 B I T ¥ B feh wh
o A JegER W H Afes mufea @ sl )

Show that ad valorem tax is preferable to specific sales tax from a firm’s point
of view in generating the same level of tax revenue.

1 $ off = FafEe s@ 3§ ceerda fe A g w0 wden B

Examine the role of treasury bills in controlling money supply.

= % Ta-ahiia wo-am A g A e s = e

Write down the major assumptions behind Neoclassical Loanable Funds
Theory of Interest.

TR § A Fg-2) WA-3 IR F 2 F i R weanar $ wdl B e i) g
Hfm 5 VA Tmana wawE w9 A FEEA FAARE TE IR )

Derive Pareto optimality conditions in production in a two commodities-two
factors-two producers framework. Show that Pareto optimality does not

necessarily guarantee for equity. 10+10=20

e si areE % AR A Rra ¥ ghem § W seer-weed w1 R e
A 75 A A R 38 T e frlde B IR # e i 3 g 3 TR T
w1

Write down the behavioural assumptions used in Marshallian and Walrasian
approaches of market stability. Show that these two approaches become
conflicting when both the demand and supply curves are positively sloped.

8+7=15

T SR % S G W % sfeuiela 3 A g, # av Hifl

Describe the short-run and long-run equilibrium of a firm ung »r monopolistic
competition.
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3. (a) Y@E % IRV | He9-USR Fgad ) AU F TR HE F Fwo F gof Tom
F Ea: | T8 T B s w27 v fiftn

Explain the concept of underemployment equilibrium with graphical
illustration. Why full employment cannot be reached automatically in Keynes’
approach? Analyse. 10+10=20

(b) = @ g gETS F T T HgieTd THE A (V) 71 A R (r) N T0F1 T wyfE s
afds wiew % Iw@M g AT

wHe a9d B : s =-40+0-5(Y - T)+0-25r
] EE : T=20+0.2Y
999 %em : 1=20-0-25r
H21 R e[ : L=0-4Y -0-5r
HFA GF I : M =40 (FIs ¥4)
v o1 H qfd F € 20 Fg qGE1 A0, T4 Gged Gedi A 6 g aREdq gt

Calculate the equilibrium national income (Y) and interest rate (r) by using an
appropriate macroeconomic model from the information given below :

Aggregate saving function : s=-40+0-5(Y -T)+0-25r
Tax function : T=20+0-2Y

Investment function : I=20-0-25r

Money demand function : L =0:-4Y -0-5r

Aggregate money supply : M =40 (rupees in crore)

How will the equilibrium values change when money supply is increased by
¥ 20 crore? 10+5=15

(c) == F yiafsa faera &1 sTeireaors favemo Fifeg)
Critically analyse classical theory of interest. 15

4. (a) A R T WG GO F oA 79 o0F YA R 59 Pkt 1 aviv Hifsw) Fo dme
w1 ot Fvewe e st e e F fiftaet | R of= w6 2
Describe the mechanism of credit creation by commercial banks and its
implications on multiplier effect. Analyse some of the limitations that can
jeopardise the implications on multiplier effect. 10+10=20

(b) wEwE F et awge d Se Hifm) aEehE g F wRd § F4 TR 6 sEead 39

Tl ®, =@ W
Distir -uish between public goods and private goods. Explain how market
failure -ccurs in the case of public goods. 7+8=15
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(¢) H& % uftm Rrgra % el fFeR & fagra oo st % e 9 gfsm § w0 w7
T P A = e H T R T g #§ FR-w e et wwfie 27
e firs fifs)

What is the difference between Fisher’s theory and Cambridge cash balance
approach to quantity theory of money? What is the criticism of each? Which
one is more relevant in present context? Justify. 8+4+3=15

@Us—B / SECTION—B
5. fFrafafas v&s w= =1 3 o 150 weet § v -

Answer the following questions in about 150 words each : 10x5=50
(a) ToFm & w=f § ‘vfa =’ e do dio wF sufega gus ¥ TS =TEn i)

Critically examine ‘per capita’ GDP as a crude indicator of development.

(b) Tafrm = % wwiE = qu fress =ik = Tremy)

Explain managed floating and sterilized interventions for exchange rate.

(c) e AW U TR T S B w0 w0 § GeEE v ef faaw hif

Discuss how carbon trading is helpful in reducing environmental degradation.

(d) “‘I= e VR # g 7 = A SR & Fiaw w81 w9 AW | e ¥ e
&7 wm
“Higher tariffs do not increase employment, they just redistribute the
unemployed.” Do you agree with the statement? Explain.

(e) umame T R TR =R ¥ wrfert ¥ fou srdv 3%t 6 gema A ggfea = i wd @
Tt #1

Explain how the equilibrium terms of trade are determined by using offer
curves of the trading partners.

6. (a) TAH WY H WA % < gEEm aq sEwee g w1 aviA A

Discuss the elasticity approach and absorption approach for adjustments in
balance of payments. 20

(b) VWren-Fuewa g ) wera ¥ e 20 f o f sEEme W e aw 5E
SR % weTiE wwrEl 6 9=t $ifm)

By using Stolper-Samuelson theorem, discuss the possible effects of free trade
on income inequalities in developing countries. 15

(c) wwgmwe & e yen faesft At 6 ot f d=, smE 6 9tg a8 f 9= an dJEE
wfearft el 1 g ofd 1 &m @ onfae @l R
Explain how the elasticity of demand for foreign exchange is influenced by the

elasticity of home demand for imports and by the elasticity of home supply of
import-competing goods. 15
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7. (@) wwgwe 5 afw % anfds fem ¥ fagm & sgar anfve am gr sidfeaeen 3§ e wan
AT S Bl R
Explain how the structural transformation, in the economy, takes place with
surplus labour as per Lewis theory of economic development. 20

(b) wiE fwm A adafE-Fel wrfied diea ¥ o 3 oifal @0 #7 wdats-Pelt e
Higd I UhAd ) G @ AEEEAN [ &7 IR0 F WY AT Hiog |
What are the advantages and disadvantages of public-private partnership

model for economic development? What are the key prerequisites for success of
PPP model? Explain giving examples. 10+5=15

(c) faFmsia 3 ¥ fw sme vReemga qn fafa gads f ot $ ae-fae & 5@
(vg-fawe) A RE=m $ifwg) s fre orifa & wads #80 ik F=97 TR

Discuss the issues (pros and cons) in the debate over import substitution and
export promotion strategy for developing countries. Which strategy would you
favour and why? Explain. 10+5=15

8. (a) ugw UE fawm FEFq (Yo Weo Fo ﬁo)%aﬁaﬁm@mhﬁ (Te Ho M) F T
sarEt @ avia i) @ gEw 5 vl (Brn-vefa $i) dmait f fafae) = @
T = F fom 3w wlafa =1 geme AR

Describe the major components used in Human Development Index (HDI) by
the United Nations Development Programme (UNDP). Write down the
methodological limitations of this index. Suggest appropriate method to
eliminate these limitations. 10+5+5=20

(b) SEEE A S 9fE F W wE w9 0§ o TR F SR U AR F T Hi
qier &1 avia $ifng)| Reresia 2 % R 9w e B yEr el @7
Discuss the inverted ‘U’ shaped hypothesis by Kuznets in describing the
relationship between inequality and economic growth. How is this hypothesis
useful for developing countries? 10+5=15

(c) Trmma 6t siifie = aun wERE & s=R i) T B e e ¥ % anfis 3l %
Hiew =1 F UR AfBE F @ 9= Q2

Distinguish between warranted rate of growth and natural rate of growth.
Explain how knife-edge instability problem occurs in Harrod’s model of
economic growth. 10+5=15

* ¥ ok
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